Adv. MS Writing & Grammar (T2)

Fixing Raptor Feathers

Raptors, or birds of prey, cannot afford to be
grounded for weeks waiting for a large number of
flight feathers to regrow. They must be able to fly
if they are to hunt and eat. Raptors, including
eagles and hawks, therefore normally shed their
feathers slowly, pyone or two at a time.

The premature loss of a flight feather to injury,
then, is not an incidental matter to pg raptors, most
of which are diurnal. If a feather breaks off with
the stub of its hollow quill shaft still in place, the
bird’s body mistakenly believes the feather is 3
whole. Only when the quill socket containing the
stub is empty will a new feather grow. Quills pgare
hollow, so the removal of a quill stub before psit is
ready to be naturally shed would be very painful to
the animal. Bird rehabilitators, therefore, treat
broken raptor feathers through pgimping—the
implanting of a new feather into the quill stub.
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The writer wants to describe the way raptors shed
feathers. Which choice would be most consistent with
the way the feather-shedding process has been
described up to this point?

A) NO CHANGE

B) in an all-at-once blizzard.

C) often losing them in clumps.

D) leaving them flightless for long periods of time.

A) NO CHANGE

B) raptors.

C) raptors, most of which are mainly active during the
day—that is, diurnal.

D) raptors, daytime-hunting creatures for the most part.

3. Which of the following alternatives to the underlined

portion would NOT be acceptable?
A) sound.

B) complete.

C) total.

D) intact.

Given that all of the choices atre true, which one most
clearly provides a reason for the statement that follows
in this sentence?

A) NO CHANGE

B) fasten deeply,

C) break occasionally,

D) are very light,

A) NO CHANGE
B) they are

C) those are

D) that is

Which of the following alternatives to the underlined
portion would NOT be acceptable?

A) imping, which is the

B) imping: the

C) imping. The

D) imping, the
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The bird rehabilitator begins by determining which 17. A) NO CHANGE

feather has been damaged. On each wing, all B) birds, by having
flighted pug birds, having ten primary flight feathers, C) birds, which have
each one shaped pg slight different. If the left D) birds have

number seven feather is broken off, the
rehabilitator selects a number seven feather from a . -
collection kept exclusively for imping. If necessary, B) sh'ght dlfferently.

a number six or eight feather can be carefully © shghtly d1ffereqtly.
trimmed with small scissors to the shape of a D) slightly more different.
number seven feather. oy The quill of this
replacement feather is trimmed so that when the
replacement feather is eventually attached to the
quill stub still in the bird’s body, the repaired
feather will pgbe equal in length to the original,
whole feather.

18. A) NO CHANGE

19. The writer is considering revising the preceding
sentence to read as follows:
If necessary, a number six or eight feather can be cut
to the shape of a number seven feather.
If the writer did this, the sentence would primarily lose
a sense of how:
A) limited rehabilitators’ feather collections are.
B) delicate the work being described is.
C) different each of a bird’s flight feathers is.
D) easy it is to replace a number seven feather.

20. A) NO CHANGE
B) be equally long
C) equal the length
D) equal in length
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i Next, the rehabilitator whittles a bamboo 21. A) NO CHANGE
chopstick to duplicate the curve and slant of the B) However,
complete feather shaft. He or she then inserts the C) Indeed,

carved chopstick into the quill stub. After sliding D) Finally,

the shaft of the replacement feather over the
sturdy, light bamboo stick, pg glue—just a touch— 22. A)NO CHANGE. _ -
is applied. The raptor now has a rebuilt, functional B) a touch of glue is applied by the rehabilitator.

p3 feather. Eventually, it will be shed, allowing a C) the applicg'Fion ofa tguch of glue follows.
new, complete feather to pggrow in it’s place. ps D) the rehabilitator applies a touch of glue.

23. Which of the following alternatives to the underlined
portion would NOT be acceptable?
A) feather; eventually, it
B) feather, eventually, it
C) feather, which eventually
D) feather that eventually

24. A) NO CHANGE
B) grow in its
C) have grow in its
D) have grow in it’s

25. At this point, the writer is considering adding the
following true statement: This imping procedure is just
one of the many responsibilities bird rehabilitators have.
Should the writer make this addition here?

A) Yes, because it reveals the relative importance of
imping compared to the other work of bird
rehabilitators.

B) Yes, because it reinforces the idea that imping is of
great benefit to raptors.

C) No, because it goes beyond the scope of the essay,
which focuses on how the feathers of certain types of
birds are repaired.

D) No, because it undermines the essay’s earlier claim
that imping is the most important work that bird
rehabilitators do.
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The Sense of Sentences

26. When someone shops by mail or
through the Internet, a tradition
begun by the American colonists, who
purchased almost everything from
Europe.

Which choice completes the text so
that it conforms to the conventions of
Standard English?

A) you will be following

B) it is following

C) you will follow

D) he or she follows

27. Brought to the United States at the age
of thirteen to receive a Western
education, .

Which choice completes the text so
that it conforms to the conventions of
Standard English?

A) his first book discusses Lee Yan
Phou’s childhood in China

B) Lee Yan Phou’s childhood in China
is the subject of his first book

C) the subject of his first book is Lee
Yan Phou’s childhood in China

D) Lee Yan Phou discusses his
childhood in China in his first book

28. Film audiences in the 1950s saw mote
musicals the 1960s and 1970s.
Which choice completes the text so
that it conforms to the conventions of
Standard English?

A) than

B) than did

C) than the films of

D) than did audiences in
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Isolated by the sea, the aboriginal
peoples of Australia long before
the arrival of Europeans.

Which choice completes the text so
that it conforms to the conventions of
Standard English?

A) had developed a unique culture

B) had a unique culture and it
developed

C) having developed a unique culture
D) have a unique culture, it developed

The city of Houston, Texas, the
third largest foreign-trade port in the
United States.

Which choice completes the text so
that it conforms to the conventions of
Standard English?

A) is about sixty miles inland, while
being

B) although about sixty miles inland, is
C) being located about sixty miles
inland makes it

D) which is about sixty miles inland,
although it is

Persuading even the queasiest of
readers to spend hours learning about
an extravagant variety of invertebrates,

Which choice completes the text so
that it conforms to the conventions of
Standard English?

A) the effect of Richard Conniff’s
Spineless Wonders is to render the
repulsive beautiful

B) Richard Conniff renders the
repulsive beautiful in Spineless
Wonders

C) the effect of Spineless Wonders, by
Richard Conniff, is to render the
repulsive beautiful

D) Richard Conniff has had the effect
of rendering the repulsive beautiful in
Spineless Wonders
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